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{EEIT
No.39-1 1.800%1.800%0.950—(1.020"2%3.14/4%0.580)
—(1.620"2%3.14/4%0.370)=1.84 m 17
No.41-1 2.500%2.500%0.950—(1.020"2%3.14/4%0.625)
—(1.920"2%3.14/4%0.325)=4.49
No.51-1 2.500%2.500%0.950—(1.020"2%3.14,/4%0.500)
—(1.920"2%3.14/4%0.450)=4.23
No.51-2 2.500%2.500%0.950—(1.020"2%3.14/4%0.570)
—(1.920"2%3.14/4%0.380)=4.37
No.51-3 1.800%1.800%0.950—(1.020"2%3.14/4%0.530)
—(1.620"2%3.14/4%0.420)=1.78
SA+—TL—k | £48EFEN
@ 1800mm ¢ 1800 m 1.0
218k
@ 2500mm ¢ 2500 m 1.0
S4F—TL—+ | ZEFH
T8 T| ¢1800mm A=2.543m H=1.0%2 m 2.0
BREFHE
@ 2500mm A=4.906m H=1.0%3 m 3.0
BRI T REER
RC40-0 (1.800%1.800%1.000—(1.800"2%3.14/4%1.000)) *2=1.39 m 5
(2.500%2.500%1.000—(2.500"2*3.14/4%1.000)) *3=4.03
S4F+—TL—+h
BEI| BRA A=2543n} H=1.0%1 m 10
BF A A=4.906m H=1.0%2 m 2.0
B A=2.543m H=1.0%1 t=0.2067%1.0m=0.21t m 1.0
B A=4.906m H=1.0%1 t=0.2792%1.0m=0.28t E10.49t m 1.0
BET T BEERE
RC40-0 2.543%(1.000-0.150)*2+4.906%(1.000-0.150)%3=16.83
No.39-1 'S ER: (0.82072 x 3.14/4) % (0.300-0.15)=0.08
HR{RER:  (1.150°2 X 3.14/4) x 0.480=0.50
No.41-1 SHE S ER: (082072 % 3.14/4) X (0.478-0.15)=0.17
HR{KER:  (1.450°2 X 3.14/4) x 0.352=0.58
No.51-1 SHE S ER: (0.82072 % 3.14/4) X (0.248-0.15)=0.05
SRARER: (145072 % 3.14/4) X 0.452=0.75
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No.51-2 SIS ER: (082072 X 3.14/4) % (0.248-0.15)=0.05
HRIKER:  (1.45072 % 3.14/4) X 0.522=0.86
No.51-3 SAE S ER: (0.82072 % 3.14/4) % (0.400-0.15)=0.13
HRIRER:  (1.15072 X 3.14/4) X 0.330=0.34
16.83-0.08-0.50-0.17-0.58-0.05-0.75-0.05-0.86
-0.13-0.34=13.32 m 13
4B FET
DT2t, L=7.0km | &/KOEEZH =17 m 17
W&
FEKOREEM =17 m 17
IR BT
t=5cm 1.800%4%2+2.500%4+3=44.4 m 44
EEI ey
t=5cm 1.800%1.800%2+2.500%2.500%3=25.23 m 25
BIR HE-HE
100m LT 2.543m*2[E+4.906 m*3[E]=19.804 m 19.8
BIMRBRAT
2.543m*3[E]*2+4.906 m*3[E]*3=59.412 m 59.4
BIWREH A
¢ 1800 BIWR 2HA) ® 1
M
¢ 2500 BIR (B " 1
BIRERE Ak
¢ 1800 1
M
¢ 2500 1
AsiEHk AsTEHI B
DT2t, L=7.0km | &E/KOEEH 25.0%0.05=1.25 m 1
nonE AsTEHIBE#
EKOERERMN  25.0%0.05%2.30=2.88t t 3
[SFAT]
=® 1
45MmET 39-1, 51-1, 51-2, 51-3 #H 4
70mmET 41-1 8 1
RS
600-100 51-1, 51-2, 51-3 & 3
Y
600-150 39-1, 41-1(2), 51-3 & 4
B (25)
1060-130 39-1, 51-3 & 2
TR (35)
1350-160 41-1, 51-1, 51-2 & 3
EEE(25)
1060-1500 39-1, 51-3 & 2
EE(35)
1350-1500 41-1, 51-1 {&l 2

WAR™ L TFKER FKE

g‘l-zllél




IUR—ILEET

& Al % L - Bify =
BB (35)
1350~1800 51-2 & 1
HIFLA ¢ 252
2555 39-1, 41-1 &0z 2
760
39-1, 51-3 T 2
HIFLA ¢ 410
3EHH 51-1 [El30 1
760
41-1, 51-1, 51-2 [El30 3
LARJVERET LAJLEREERM | 1o - F25ke/ %
6+9+9+9+6 ® 39
INYORIBEEER| BT
5kg/tyb 2+3+3+3+3 tyh 14
IUR—IL LY UMH 2mLT
#BRT| $1060 39-1 Gl 1
LS UMH 3mLUT
¢ 1060 51-3 [El30 1
LS UMH 2mBlT
¢ 1350 51-1 [El30 1
LS UMH 3mLUT
¢ 1350 41-1, 51-2 [El30 2
EOMET NI T TR
30mm*2m /A< 3+3+3+3+3 N 15
¢ 400LLF 39-1, 41-1, 51-1 &R 3
¢ 700LL £ 39-1(2), 41-1(2), 51-1(2), 51-2(2), 51-3(2) [El30 10
TISORRET | BING
EJLZIL 3+5+4+5+4=21 21%%*20kg=420kg kg 420
2= H=1.10+1.25=2.35 m 2.4
35 H=1.31+1.16+1.39=3.86 m 3.9
FERET
1+1+1+1+1 (=l 5
IUR—IL
BT EFEYELSIL: =(1.17+1.49+1.49+1.49+1.17)/5=1.36
aVy)—kI: =(0.17+0.36+0.36+0.63+0.13),/5=0.33 &l 5
BRI (M#) =1.10%(1.06+1.35+1.35+1.35+1.06)=6.79 m 6.9
XA RER %
L=2.8km mBE$ttr 42—  5#H*95ke=475 t 0.48
BEMEYIHL| E®HCo
AAET (0.820"2%3.14/4-0.600"2%3.14/4)%0.520=0.128
No.39-1 (1.620"2%3.14/4-0.600"2%3.14/4)%0.150=0.267
(0.820"2%3.14/4-0.600"2%3.14/4)%0.565=0.139
No.41-1 (1.920"2%3.14/4-0.600"2%3.14/4)%0.150=0.392
(0.820"2%3.14/4-0.600"2%3.14/4)%0.44=0.108
No.51-1 (1.920"2%3.14/4-0.600"2%3.14/4)%0.150=0.392
(0.820"2%3.14/4-0.600"2%3.14/4)%0.510=0.125
No.51-2 (1.920"2%3.14/4-0.600"2%3.14/4)%0.150=0.392

(0.82072%3.14/4-0.600"2%3.14/4)%0.470=0.128
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No.51-3 (1.620"2%3.14/4-0.600"2%3.14,/4)%0.150=0.267
0.128+0.267+0.139+0.392+0.108+0.392+0.125+0.392
+0.128+0.267=2.338 m 2
k- E#E
BET Elsid 5
%E:ET}?& FHCo
L=7.2km AR O m 2
RiGHRE MER | #=
L=2.8km ME&Lt 9—  5#H*95kg=475ke t 0.48
nn& 7 Co
EKOERM 2.338%2.35=5.49 t 5
fTHT
*~E BEHAS20F | 1.800%1.800%2+2.500%2.500+3
t=5¢m ~(0.600"2%3.14/4)%5=23.82 m 23
LTERET M-25 1.800%1.800%2+2.500%2.500%3
t=10cm -(0.820"2%3.14/4)%5=22.59 m 22
Pl
XiE#HR T W=45¢m m 1.0
EOa &S5k
[ar&51k]
a &S A
= 1
BHEE
¢ 700mm 142+2+2+2+1=10 [l 10
AIESERM
BRETL N 1
BHEE
¢ 700mm YIHIE : 4.20m/ B < —)L#4 :8055¢m/ & it [E513i) 10
IUR—ILERERERT
[ AR ]
= 1
BREEEL gt
60 /4> IEXRLY :1.7+0.9+29.5+6.0=38.1 0 A 38.1
[RUR—ILEREKE]
= 1
{R#EKT Tm5
HRE-HE 1R 10 &1z 5
BEE
¢ 400 m 3.0
KEL ¢ 150mm
TEERFHEK IEExRKLY 12958 &1z 5
WEKTSH ¢ 150 g5 & 1
WEKFTSS ¢ 200 g5 & 1
WEKTSH ¢ 350 g5 & 1
[(REBEFEZHE]
= 1
RBEEZHEEB
B IERLY :1.7+0.9+29.5+6.0=38.1 0 38.1
ZERBEAE 44 38.1%x4 %1 . 25(XREEH)= A 191
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[EAEAEI]
A LS
SREI| E=RiER 1+2+2+2+2+1=10 &R 10
GRAET]
=® 1
LR U B
t=5cm (1.00%4)%3=12.0 m 12.0
AR R R
t=5cm (1.00%1.00)*3=3.00 m 3.0
BOEME AsHEHIBEA
DT2t, L=7.0km | ;&E/KOEHMK 3.00%0.05=0.15m m 0.2
no& AsTEHIBEA
EKOEEEE  3.00%0.05%2.30=0.35t t 04
fEEIT
(1.00%1.00%1.00)%3=3.0 m 3
A T E F4E+
DT2t. L=7.0km | &7k 0% m 3
nsn&
FKOERE m 3
HRT
RC-40 (1.00%1.00%1.00)%3=3.0 m 3
=RE B HIAs20F
t=4cm (1.00%1.00)*3=3.00 m 3.0
REFBEHESB
=1 BEEAE . 3% H 20
A 6.0
LEME]
REMEER | BIR 1.02+1.65=2.67¢ t 2.7
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[(REEEA]
= 1
K[E - KAL
FRERE| R ITEREY :1.7+0.9+29.5+6.0=38.1 B
BEEAE 14 A 38
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